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11.3 & 11.4 Honors Geometry DATE: N |
’ﬁraw a sketch of a trapezoid. Then label the bases, b1 and bz, and height, h, in your diagram. ) N
u =Y ( L[ + L 1 ) ) L‘
1 b, ba
'3 ] + bL
L
@rea of Trapezoid = Y h ( L’u. ¥ L"‘\ uni"’—s & ).
Ghe median of trapezoid is a line segment joining the midpoints of the non-parallel sides. N
X
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e
@rea of Trapezoid = y,
F/fhe median of trapezoid Is a line segment joining the midpoints of the non-parallel sides. N =
L AP = ?PZ £
L g = =
M= P = P2 +€E
= L AD+ & Bc
Median of Trapezoid = Ji" (b, +¥b)
. Y
e . . "y
Draw a sketch of a kite. Then label it ABCD.
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Median of Trapezoid = =
AN ,/
(Draw a sketch of a kite. Then label it ABCD. A )
L
P G ]
L pn( Am+ CW)
Y 5
L d.d
R 1
.
Area of a Kite = .:ﬁlr ‘ll <
.,
Examples ;
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1) The consecutive sides of an isosceles trapezoid are in the ratio of 2:5:10:5, andthe trapezoid’s
permeteris 44. Findt‘l}e area of the trapezoid |
2% P=94 A.—..{a—_fc)(;o-r-v)
jo = Yy
i = : = 3(ay)
Y ® = 2
= =72
- _Jox X =2 v
ta &' 8
2) One base of a trapezoidis 12 andthe altitudeis 16. I[fthe area is 248, findthe length of the other
base.
f'\ - 'Ii L\ ( Ll +b "'-) —
99 = LUe)y(12+b,)
A48 =R(12+by) =
g 3 19 = l5';:.
3= 12 4%, |
. =l = . :
3) Findthe area of the isosceles trapezoid on the right. 7
1,1,} LE q :‘ L 1
& o _ |
x  x01 ax A=530G (1+13) ¢ /i)
333 6 = 4303 .20 ! .
L;-_L = v y? e ©
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4) Findthe area of the rhombus whose penimeter is 40 and whose longer diagonal is 16.

o _
gy => =« sides = = =/°
o
g8 d, =1
cg 3 dy =12 Aa%{k}(fﬁ
= g1 =G u*

9) GivenmZABC =60°, AD=17, AB =16. Findthe area ofkite ABCD. B F&& 549
16 = QB
L0306 3
+15 Adee b Genc
k= Lnaten)= LieraaB+1) v ' i

= Jiul,)(sﬁ*rrﬂ 17 n{" ¢
2
= ﬁ’(ﬁ;ﬁ‘) = by tI2zo v @ D
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